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Part - III 

ECONOMICS 

Maximum : 80 Scores 
Time : 2 'l:z Hours 

Cool off time : 15 Minutes 

General Instructions to Candidates : 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 
2'.12 hrs. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers . 

. • Read the questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the 
same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic dPvices except nonprogrammable calculators are not allowed in the 
Examination Hall. . 
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1. .Meeting the needs of the 

present generation without 

compromising the needs of the 

future generation is called ........ . 

a) economic development 

b) social development 

c) ::;ustainable development 

d) economic growth 

2. The following data shows the 

marks obtained by six students 

in Class XI for a class test. 

Students Abhinav Najaf 

Marks 70 90 

Calculate the Arithmetic Mean 
of marks. 

3. 'The economic policies pursued 

by the colonial government in 
India were concerned more with 
the protection and promotion of 
the economic interests of their 

home country than with the 
development of Indian economy'. 

Critically evaluate the short-
comings of the agricultural and 
industrial policies pursued by 
the colonial administrators. 

4. Distinguish between primary 
data and secondary data with 
examples. 

5. Government introduced so many 

poverty alleviation programmes 

with an aim to reduce poverty in 

our nation. 

Mention the various poverty 

alleviation measures 

implemented in India. 
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(1) 

1. r::oOJ1 cmeia:i6omrc6{i)' <mOJ~J,6)S 

CT!'@OJ Cl"D<'J6l513 cm m10ClOJ ROm~ Cl uo rdflc00" 

oJl n.e.i O®CTl0d3:iO®m ®<O coml am ~c:r, 6lCTJ® 

®eJQl2,0Cl2!2,6lS CT!'@OJC!Oj!>m3CJtJ m10tiOJffiCTn 

o.fld3:icru m Ql 0 om. 
a) cru o mJ CTJ®1 d3:i o.Jlc13:icrum o 

b) ffil0'1lJn01d3:i o.flc13:icrumo 

c) cru 6ffiill1 ai oJl d3:icrum o 

d) ffilOmJ®mlce, OJ§_in-8,J 

2. 63lm0o OJinm:J nOCl2Jin6)CT'uc00cVlOl 

~o~16)eJ 6 oJlGc!Oin(O"..o1cJOd}6) 63<ll6 .~ocru 

6)5~1am eJ@1aj OO!Dc.B€l.!,d3:icf0 ®06)'f 

6'>cfuOS.!,®m1<ll1cOOJ,lm6. 

Amruth Leena Anand Sruthi 

40 50 68 80 

crumomnai a:iow,10 (Arithmetic Mean) 
(2) ca, 6fYS J,nJl SI cB£\1c&. 

3. ' gQ nm,\ w 6 6) s cru o mJ ®OJ1 d3:i n.1l ce, m.i m o 

o.qirmcm1eJJ,nJm1 Lmf1§6)CVl miom.Jrnm1d3:i 

®O eJ
0 

nJ Ill,\ 6l5l3 cfO cOO' §2.'D rm am m dlJ d3:i,J,d3:iCl2! .!, o 

ffi) 0 Ill cBrlil cOO 6 ce, (l2) 6 0 6) .!lJ ~ 6 d3:i 

o.qirmcmomflai6rm6 g:Qmn;imflam Lmf1g1n'l1° 

(f) OJ 6fiO 6) Ql 'Vl" amJffiJ,OJinmo>1aj 

m.io rru com1 ce, mw o .' 

l mf1 §'l nSf 6)d3:i0 Cl§_ 0 6fn1 CQJ am @<O 6111 rnm1 am 
mmmJ,OJincomlajJ,ClnJorm d3:i 0 in cUJ1 d3:i 

OJ :i o ru m.i o wl d3:i m w mw16) cVi 

(3) Cl nJ o ai om> ai ce, ciO n.1l a:i in uo mo ami d3:i m o mfl 

oJl e.i mfl <OJ, com 6d3:i. 

4. LnJOLDalld3:i MOROWJ,o Bjl®lw MOROW,J,o 

(]) 11l!ll el,J,~ OJ,\®<'JOffilo §2. BOnO !06111-

(2) ffilnOl®o 0J<'J&n'>D:l0c00.J,d3:i. 

5. BO<llllB,\o d3:i 6 o w" cB6) 6 d3:i o.qirrn 

eJ cOOl<'JCl ®mOSJ,d3:iJS1 (f) OJ 6fiO 6) Ql 'Vl" 
m1mOJw1 BO<llllB,\ m1inl1l!loin~m 

nJ ail nJ osl c13:icJO CT!'@n.ll nSf ce,ail qJl §6 6T'li. 

gQ mn J w1 am msc;BJ eJ oc00lw ru10J1w 

BO<lllLB<'J m1inQ11lOin~m nJ<OlnJOS1d3:i6)§_-

(5) cOOJ,016)-8,j'fJ,Cll\?,cfu. 
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6. Complete the following chart : 

Sources of human capital 

l 
On the job 

Training 

i 

7. A data on the annual profit of a 

firm is given below : 

(2) 

Year 2002 200.3 2004 
ruiOn'l:lo 

Profit 60 72 75 
eJ:)@o 

Draw the Arithmetic Line graph 

(Time Series graph) for the data. (2) 

8. Make three pairs from the 

following. 
(Fiscal Policy, Spearman, Index 

number, Taxation, Rank 

Correlation, Laspeyer.) 

9. Development of infrastructure 

and economic development go 

hand in hand. Can you prepare 

a report on 'the relevance of 

infrastructure for the economic 

development of the nation'? 

(Areas to be, covered : Economic 

and social infrastructure, energy 
sources, power sector and health 

(3) 

sector.) (8) 

OR 
Prepare an article on the major 

challenges that India faces in the 

health sector. 

(Areas to be covered : State of 

health infrastructure, role of 
private sector, urban-rural 

comparison, women health, etc.) 
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6. ®:) 6'; '9 6l rft,:) s 6 iO"!Cl1 '.Cl c61J··:\s crn c:iJ ~'Ji §
0 

o.JJ iii (00)'1 ,fr, (o'l d3€\J,c:fu. 

mcr\~o.S::lj m,1e.iwmw.ID:6lcffl ~oo.Jls6rnc'I: 

I ,,, 
17,~ Jell c£:-Gl1 sm51 e;~ 

o_J ml uoi 2J m 0 

cnJ o 6DJ crw 1 d)€) 6 rm 
6lcfu8S6®Cil:)ld)€)J/D\_,. 

2005 I 2006 

65 80 

l 2007 

I 
95 

I 

I 

d:bJeJ<Z®Gmi L(f)Jn.0° ( 6)8So CT'Jlcri'":mr 
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(2) 

L(f)Jn.0) OJ((cWc006c6>. ( 2) 

6l a±. J s l cmn'1 mi c00 6 nn OJ cw'i afO 

( n.01 cru' cBti'i rdi 
~®(ill cf),u ffi)u 

.2J 6 Ql (lM) afO , 

eJ Jm.foJ1 CQJ iO ) 

Q)Jffi\! Cl ~:)CW1 cB:i6l§ 

m(nJffiJ,r.fhCilJ, m"cfnJ/51~ 

O:)ffio" Gd1>J01GeJ~c:?J. 

(3) 

9. m.J J rru cmn1 cBo (1J §it D_.ci wl 2J6 o 

rulctbm.Jmmm! eJJ,o mfOa:::Jl LnJWJmG:>CDJ 

63rDJ, n.Jffio:)Eiffl (lffi)Slffil.O:)(l) (;L)'C)rfuffij6:li30'1: 

OJ n.01 &i\l, rm mr ffi) :) ffiJ ai'm) 1 d1, oJl c£'o (T'J 

m®rnl afO r.m sl CfU.O'.)ffi ffil'D cfu'.nj6N3 g}.)5) s 

L n.J m.J d.l®l 6l mM6l 6 01.·?.zC 63 ro 6 61a:<;ci8 iD §
0 

©<E:j:)OJcOO:)tliQl:)? 

gi_ cilJ 6l <;lj SJ,Cli (lflm 6flS G QJ 6lJ PJ cfo ciO: -

( m.J J ffiJ <011D1 d3o CT'J:) m J nD j cmi skrun 8 m 
m.J':J rfh ffij 65'8 :iii , §2 'D fli 8Cl gJ_ 0 C'~n S 608 ci~ , 

6)6)0JBJ!,C6l GQlGlJe_], rrn?DClrD:)CfJj ClQl6lJ2J) (8) 
C?m>6'l~!lhictm 

~czroJWj Clm61H?JC\lnmi ~rrm<l m'lirslai,J,w~c&i 

ro1c00J,rm Ln.JWJm 6lo..J~J,OJlg1ceo6l§<;HAI 

8ffiJ, ClieJ6JJmo ®CSJ80::Jcf76\?,c&. 

~U06l<.:t:JS.J,CliCOl~J6TY5 CliQl6llf2Jr.fhcilJ:- ( 17mlC0'.)CI),) 

(1JT()Sl<ru.D om CTD'DcfuCOj6m3@2@S m: eJ ci.Jl 6i e.; 

amJOJCTU.O, MjdJ>:)ffi,) CliQl6'LieJ\Q'J6lS n.Jffb. 

o.J §ffil- LWO ai ©Jro© m~ ::i, ml\ @"l cili§.;Gl s 

<lr@G!tOC0jo OJJ,®e1JWClJ i 

Turn Over 
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10. Write the economic term : 10. m'roffi6 Cli CQJO 2l6jQl o CQJ ffi)OffiJ (0)1j)1 cfu CJK>oUL® 

Privatization of the public sector 
n.JB6lffi':l'6®6cfu: 

6ln.J O®.J,Cli Ql 6lJ eJ 0 mm o n.J m 608 cJ6 
undertakings by selling off part 

ffi) J cfu0rtljClJ rnl cfurtl1dJ{i)6 cm ®16li8 @0 CJ) Ql ::i mJ1 

of the equity of public sector. 6)n.J O®.!,Cli Ql 6lJ eJ ::i mm o n.J m 608 ~6 6) s 

undertakings to the public. (1) 630nDrtl1 cfur.J6 ffi) J cfu J rn J Cli Ql 6lJ eJ cr,i.r d3£)
0 

6)6lcfuQl oo 6 cm L n.J L di CQJ . (1) 

11. The blood groups of 35 students 11. n.J®16lmormoo ~ocµs16le.J 35 w~BJOiOmD1 

of Class XI are recorded as cfu ~ 6) s rn c&® L w J <;l:J6 cfu c,11 m1 0v 6p;J CllJl -8d @" 

follows ®06)':!' 6lcfuO SJ, rnm1rn1ce€\~cm6. 

! I ! 
A B 0 0 AB B+ve 0 A 0 B A B+ve () B A ()1 () 0 

B+ve A AB 0 A A 0 B+ve 0 AB B+ve B A 0 13 A 13 I 
I 

Represent this data in the form ~'D CUJOfpWJ,6lS 63rtl.!, @@ru~rnml -m1 rn 

'of a frequency array table. (4) n.J3) cfu ® ~ OOOcl.16\~cfu. (4) 

12. Cumulative frequency curves 12. ffi)6®Jl®oru~rnm1 OJLcfuo 1moo1W6l<;l:JS6<m 

are called ............ @ .. : .................... 

a) histo~rams a) nD1<li?}PLWOo 

b) og1ves b) 63m'!l1.J 

c) frequency polygons c) mmiru~cnm1 6TlJnD6156~0 

d) frequency curves (1) 
d) @@ClJ~(Q)1j)1 ClJLcfuo (1) 

13. The following table shows the 13. 63rtl6 m@C/1>.!,n.J L®1 CQJ1 mi 63rtl.J, ClJtZJn'i:lo 

ages of the patients admitted in l n.J c:: ru C11>1~d7€l6 cm c::rn ow1d:hfil6l s l n.JO w o 

a hospital during a year. ®06l':l' 6lcfuOSJ,tnm1rn1ce€wm.1. 

Age (in years) 5-15 15-25 .25-35 35-45 45-1111 Gti-611 

l n.J OCQJo ( ru ronS:J tnm1 mi) 

Number of patients 6 11 21 23 14 5 

ClirtlOW1d:hfil6)S n8)6J,"qo 

Find the median age. (4) (4) 
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14. Look at the following examples. 

Categorize them into formal 

sector workers and informal 

sector workers. 

a) A teacher taking classes in a 

school. 

b) A head-load worker carrying 

a bag of cement on his back 

in a market. 

c) A doctor rn a hospital 

treating a patient. 

d) A daily wage labourer 

working under a contractor. 

e) A handloom weaver working 

in her house. 

f) Nurse rn a government 

hospital. (3) 

15. In which country was the great 

leap forward campaign initiated 

in 1958? 

a) India 

c) Russia 

b) China 

d) Pakistan 

16. Land rn India suffers from 

varying degrees and types of 

degradations stemming· mainly 

from unstable use and 

inappropriate management 

practices. 

Identify six factors contributing 

(1) 

to land degradation in India. (3) 
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14. <ID::J6)'9 6)cfu::JS,J,(l)(ID1C01<B£16ffi) ~G::JnDC06ID 

6ITT3 cm (2, m::J<B@ ,J,cfu. 

63'DnJ.2..Joco1cfu (2,Q)6lJeJ @@::iY'1ei::i§lcfucm 

mromrnnJ.2..Joco1cfu (2,Q)6lJeJ 6)@::iY'1eio§1c£bcm 

nB)ITTl16ITT3@m <ID<llo<ID1m1<B£1,J,cfu. 

<ifu::l61q;\]S6<B£16rmJ,. 

b) 63ffiJ, ~J,ill§.6 6)@::Jc9ieJ::J§1 63<"0,J, .2..J::Jd1€) 

rru1 m o'A"' cfu t2. ffiJ o § (l)(ID 1 t2. eJ ai.r c:0ti-i" 

.2..J,J,Q) ITTlJ, 6)cfu ::J6Tl'Su (2, nJ ::Jcfu,l,(ffi 6· 

c) 63COJ, a!@Cf()J,nJL®lCllJl6leJ <l!CW::lcfuSffi 63(l)J, 

(2,(l)::J(J)16lW nJC01t2.U1J::JWl<B£1,J,ffi\\· 

d) 63<"hJ, (2,cfu::J6riOLS::Jcfu"soJ,@S cfui':fim?i 

t2.@6::JeJ1 6).2..J<~:J6rm G1rurru t2.0J<IDm 

6)tm::J'91eJ::J§1. 

e) 63COJ, 6l6lcfu(l)(ID01 @<ID::J'91eJ::J§1 CTUJmlo 

OJ~glam 6l<ID::ic9iam 6l.2..JCfil!.rmJ,. 

f) 63COJ, (J)QJ@iQ@mCIJr a!@UDl,n.JL@1CllJ16leJ 

m<fm.l. 

15. (lj)::J6)'9 n.Jo6Y1m))1co1<B£1J,rmruCQJlam nffi<OI 

CO::l@6j(l)(ID::Jml QloD(l)(ID::JCQJ cfuJ,<ID1-8,dJ,.2..J::l§o 

1958 am ((!@COo@l-8,d@? 

b) 6)6).2..J(T) 

d) nJ::Jcfu1cruo::icil> 

16. 63'D!l..!l<IDjnJJiOQdmSl:JO(l)(ID<IDJ,a cruolrom~p 

(l)(ID<ID,J,Ql::JCQj ~nJ<l!CW::J(J)o illJeJO 

~mn:i CllJ16leJ m6™' o..11 o..11 w <IDCO(l)(ID1 e.i~ 

<ffi'On.J.2..JW(l)(ID1mu o..ll<l!WW!IlOcgll @ico3cm,i,. 

~mnjCQJl6leJ m6™16l~ ((ffilnJ.2..JW(l)(ID1mu 

cfu o co 6Tn m ::i cfu 6 rm al@ o" ru cru" ® J/l5l cfu ui 

126 

(:l) 

(1) 

<ID1m1-8,do16r"Olll) ct:h,J,Olc:t:r <IDq1Jooo<B£1,J,cfu. ( 3) 
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17. Calculate the standard 

deviation and coefficient of 

standard deviation for the 

following distribution. (8) 

Marks 20-40 40-80 

No. of students 3 

OR 

Calculate the range and quartile 

deviation for the following 

distribution. 

6 

Wages 20-25 25-30 

No. of workers 2 10 

18. 'In India, the land reforms lead 

to the abolition of 

intermediaries and 

redistribution of land among 

tillers of the soil'. 

Do you agree with this 

statement? Justify your answer. (3) 

19. Scatter diagrams show the 

visual presentation of 

correlation. 

a) Draw scatter diagrams 

showing positive correlation 

and negative correlation. 

b) Point out one example each 

for positive correlation and 

negative correlation. (3) 
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1 7. ®06)'9 @tm1m1d1€l2/m o.Jl@m6ln®ID1@~ 

i;QP <iD crn.D ro cw" M"l n1l Cl w n9:l m 6 o Cl ca, o 

nm n.01 n9:jJ ~u 63 0 n..O u i;Qp cm Cl <UJ lb rur 
cuJ'lo.Jl<8CllJn'l1ffi .!,O d7o06fi .!,cfu. 

80-100 100-120 120-140 

20 12 9 

@ o@ '9 @ ITTJ1m1c003tm oJl @ ai 6'ffi mm1 6)~ 

Cl 0 6'f!!2l.!, o cfuj 0 ib § Cl2fl m'/i Mi oJl Cl CllJ r& m .!, o 

cfum5.!,n.JlSla*\~cfu. 

30-35 35-40 40--45 

25 16 7 

18. ' gQ ITO\) mn mi <SJn..J ai1 nSf cfuRl6ffio 

aiwJru i0cm-m1ce,@ ~ 63 lj)1 (lJ 0 cOO 6 ca, (Q) 6 0 

ai 6m'J m?> n..J 6'm16) w s 6 c003 ITTl ru &c001 s Cl2fl m?> 

@4o.Jl@ai6'ffio mS®m.J,cfuCllJJ,o @.2Jm!@.i,'. 

~'D C1l1ll 1'51ln..J0 W<ll ®mOSU m1i;mcJO 

Cl wog:i] GOO 6 ITTl.J, Cl 6fl'SO ? 

~rnmaio mJ:::imJlceoro1o00c1ce,. 

19. <llcfuCJ01<ll e.i n.916)~ BJCJZ)JOo.Jl nsf ce,oaiaio6Tn" 

m5'ce,o Rm MW Lmo. 

a) <lln..Jocru1RinJ crunD6UJCTUJo @mmRiru" 

(T\) nD 6UJ ffiJJ 0 o.mrm1ru 

(T\)J!l.11 ~ cOO.!,(ffi cru" ce,o R iO M w L mo 

ru aim!ce6\J,d7o. 

b) Cl n..J :::icru1 R"l ru" cru nD 6UJ CTUJ mm1 m c10 

6) m (/) R"l n.r cru nD 6l1J CTUJ ®m1m60 

63CJ<ll(()CJ ~BCJnD(()6Tfl6)Ql'9.!,<~\!c£b. 

126 
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20. Development of rural areas is 

essential for India's overall 

development. 

Give a suggestion for further 

development in rural areas m 

India. 

(Hint : Rural credit, orgamc 

farming, agricultural marketing) (4) 

21. Find the odd one and justify your 

answer. 

a) Consumption, production, 

investigation, distribution. 

b) Presentation, conclusion, 

inflation, bibliography. 

c) NCERT, UGC, ICMR, AICTE 

22. While explaining the features of 

globalization, your Economics 

teacher says "outsourcing is one 

of the important outcomes of the 

globalization process". 

Examine how outsourcing helps 

(3) 

Indian economy. (3) 

23. Correct the following 

statements. 

a) Mode is the middlemost 

items of a series. 

b) Non-sampling errors can be 

minimized by taking ~mall 

samples. 

c) Data represented through a 

histogram can help in finding 

graphically the median. (3) 
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20. g-Qmfl,\CllJ66lS cru/bq.i,cg(ll):)('Q)J,61.JQlOCQJ 

oJltfucrummm1m l(f)OQl6m3§66lS oJltfucrumo 

ro-0®j:::>OJ~,\QlOGTTl. 

g-Qmfl,\CQJ66lS l(f)0Qli6ffi (gQl6l.Je.JCllJ3@s 

ru1 Gfu ffi) m mm1 m :::> mfl ffi) ~ o.S:lu s1 oJ (l) Q) :::> CQ) 

m1/bcg<_3~6Wci0 nffi'96®6Gfu. 

( cru ~.!l.l m GfuciO · - l (/) :::> aii 6ffi ru :::> w" CLJ, 

6l 6l ~ ru Gfu ~ n9:il , l (/) :::> ai i 6ffi Gfu :::> lb rili1 Gfu 

126 

oJloJ6mffio) ( 4) 

21. l(f)~<;t:[Jmn ~ci06l~S:::>Mm®" Gfu6l6'fl5Mm1 

Gfu:)(l)6TT) 0 oJl ~<3 ai:::>.003&3>. 

a) ~oJ(g@:::>(f)o, ~®"oJ:::>Bmo, 

m-rocgmJrili6ffio, oJl®C06ffio. 

b) m-roru®Cll6ffio, ~oJffi)onD:::>Cllo, 

ffi:)6TT)CQ)6J~<llcl~O, l(f)ffiDffi)~!2..IJ. 

c) NCERT, UGC, ICMR, AICTE 

22. m'@(g(f):::>~ru®Gfu<ll6TDMm16lr(li LoJcg®,\&h®Gfu · 

6l~GOOJ,01aj" ru1 ~Bi Gfu<ll1 .003cg mJ:::>UO 

m16m3§66lS gJ2cBfil(g6ffi:)Ql1c£bm) ro-0W,\OoJ1Gfu 

oJ ow cl CTn,!,. "63 'D § cgcruo<f cru1 ocr.l nffi cm@" 

m'@(g (I):::>~ ru ®" Gfu co 6m mm16l r(li m-m m mn en 

n!l e.i ai :::>6ffiu; , nffi rm. 

63 'D 3" cg ffi) :::> 19" cru1 0 uf nffi 6m3 6l m CQ) :::> 6TT)u 

g-Qmfl,\ffii crucruB"ru,1ruffiill6lCllJ crunn:::>mfl 

(3) 

GOO,!,CTn6l®rrD oJ co1a~:::>w1GOO,?,Gfu. ( 3) 

23. ®:::>6l'9~0CllJ,!,CTn toJcru"®:::>rumtfu~66lS 

6l®8?,&hLJO ®1Cll,!,Mmcl&h. 

a) 63<ll6 cruim1cru16lr(li aiw,1mm1 e.J,!,~ 

g-QmaiomJlm1.oo,?,o aai:::>C"t.IJ'. 

b) cru:::>cru1~1o(J)" m-m~:::>6l®CllJ6~ 

6l®fJ6GfuciO c£b3ow".oooo'O 6l.!l.Jo1cw 

cru o crui ~6 c£b cm cru Jl c£b co 1 .!?z! o mi 

ai®JCW:::>cfb,!,o. 

c) aii CUJ1 w 6l m 

m1ib6mw1.oo:::>cm nn1a~pl(f):::>o 

m:JnD:::>Cillcfb(l)Ql:)GTTl. ( 3) 

Turn Over 



24. Compare the development 

experience of India, China and 

Pakistan with reference to 

demographic indicators, G.D.P., 

growth rate and development 

strategies. 

25. Complete the following on the 

basis ofhints given. 

a) Green Revolution -

Agriculture 

Golden Revolution: ......... . 

b) Statistics in singular sense 

- Statistical methods 

Statistics in plural sense 

c) Population Aggregate 

from which data are to be 

collected m a statistical 

enquiry. 

Sample ............... . 

26. Calculate the simple aggregative 

price index for the commodities 

(3) 

(3) 

given below. (2) 

Commodities A B 

· Base period price 10 15 

Current period price 20 20 

K-27 8 

24. g;Qrrmc\, 6l6l.!2Jm, nJOcfb1ITUDoffil r.f)ITTl"l 

ro o t!l6c\ 61Jf'3@.6 6l s OJ1cfbcmmom615 OJ 6IJ8 cm 

t!l6mcruo6lJclo OJ@.ffi..g,j, G.D.P., mJ16leJ 

OJ@_ iO aj, ffi)'.)ffiJ rnm1 cfb nJ <01 nS:f cfbOCTl 6IJ8 cm, 

oJl cfb cm m ® l nm 6IJ8 cm ntJ) mil OJ w 6 6) s 

mms1ITUDomrnm1mi ®Oro®mclo 6l.!2JW"®" 

oJ1 eJ mJl CTl ,J,Cm1l\~cfb. 

25. ®ITTll§.i,~ cru~.!2JmW,!,6lS mmslrruoom 

arrm1mi ®06lY' ci.!2Ji0rnml3.i,~OJ 

nJ~ iO arrmi cfb ml ce6\l,cfb . 

a) nDai1®o.Jl9':)0Jo - cfbJ~ 

cru60Jffi6,P;"l o.JlwOJo: .................. . 

cruOo6lJJ1 cfbQlOCllJ roi ®1 cfb cm. 

6YlJ nD 6 OJ .!2J m rnm1 mi cm o a 6llc\ 1 cfb a 

c) ClnJOcJ:j,!,Cle.Jn'l:lITTl - cruOo6lJj1cfbQlO(Q) 

mm ci m J n'l:l 6lT> rnm1 mi Cl Cl1> 6lJ ro 1 c;£16l 6l cJj 

Cl S 6fl56 ITTl 63CTl,J, cru6T1lli Wo. 

cruom.Jlcm : .................. : .. ...... . 

26. ®06lY' 6lcfbos.i,arrm1ro1c006rrn cruowm61J8 

@_66lS cru1onJlcm ar@lCDClW8ioJ 6l6llnJcru" 

g;Q®Cillcfu'cru" (simple aggregative 

126 

(3) 

(3) 

price index) cfbGmc00oc00.i,cfb. ( 2) 

c D E 

30 25 40 

50 ~30 60 

2,84,800 


